EARAROBEEIERT — 2 N— IBISH —F

201854 H28H (£) 1EIFAR1H

R XA )

=]

HEE] B

‘ [R1%] & ‘ [REBE] — | Z (%) 16000 B

ABICOVWTRDTEEERROODE. TR LIV,

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . Rk — :35. — . . ZHET (ER)
2lal 75y oo~k 3 Fraps 1(3_5)3 6-6 34.4] 8.9 | 1 :1;2) f]ﬁ;‘%%
R:/G1URN B:Syva547 =e)
= 4 3 | AUER 1:35.6 3-3 35.0| 82.8 | 2 466 | ZREETT (RR)
2|1 2| # 1T PLT 1 56.0 (1 3/4) o |BebE
R:xAL=GF—Z BNFTIU—F PEENE
B it 3 | ENEAS 1:35.9 12-12 | 34.7| 79.6 | 10 | 442 |EMEBA (FH)
Eam v=T77x7)— 54.0 @ (-10) | WD) G1L—2>7
L:ANTz—J) B:¥—U—2-F BRT77— LA
=5 4 3 | NIXEA 1:35.9 6-6 35.0| 79.6 | 3 482 |MTRLE (ER)
401101 FTAINTILR A53.0 7 E) (-2) () ¥+vOvy hT77—L
R:8—MLRIIL B:TLEHCRUT RS
5 7| 7=V FE-%— [B] >3 Xﬁﬁ)&g 1(/;365? 66 |35.1|78.6 | 8 ?é? EZ? (&%)
L:Tw IRy v BITI9—> MRAEH /XX
= = 4t 3 | HEAA 1:36.0 1-1 35.7| 78.7 | 11 | 500 |ERAN=E (EiH)
6l5|9|®>>TA T 1— 54.0 (5 1) Loy | BRI
AL :Shanghai Bobby #£#:Hal Inor Robert G. Harvey
o 4 3 | JIERE 1:36.1 11-9 349|775 | 13 428 | THEEZ (EX)
7 3| TI7>I2R 54.0 (1/9) (o) |FrEMZ
Ry —3UT BEFNGA—Y FriEF X T —L
oIl % vy — 4t 3 | BERLT 1:36. 9-9 34.8| 77.5 | 4 370 | BMAIE (EH)
3 6| NNExyT AT A51.0 (7 E) (-12) | B) XrBy RT7—L
RiJFTUR R BiNALIT YT J =¥ Ty — L
R NP EHAB :36. — . . BE—% (FXR)
9 1l ARy T 3 4 1(13/62>2 3-3 35.6| 76.6 | 5 42;2 X(m P
LA TATv— B:JL—br¥vTq ARXRETa—-T7—L4L
S 43 | AEHT 1:36.5 14-15 | 34.7| 73.3 | 9 420 | /NEEfREL ()
10/815| L7 x—H 5.0 (1 3/ (o | BB
R:TIyIEAK B:hALLEbI—)L = RS
S 4 3 | HUKsE 1:36.6 3-3 359|727 | 6 466 |BE (FEFR)
EH 5 TAH— {B] A53.0 (3/4) (-6) ;E%%
L:weNnNyah7r B4R =[ok:tie ]
: . o3 | et 1:36.9 14-15 [ 35.3| 69.2 | 12 | 446 |MEEAEZ (RXR)
12|816| 7 KX 1VH > #85.0 1172 Cio) | I
R:g— RLEYIL @B:aipal LA I94577—L4
s = s 43 | KiBGh :36.9 9-9 35.8| 69.6 | 14 | 510 | FEEE ()
130N g | 7>E—RFh> 7550 (NF) (=) | HARER
L:xrinMaOo— B:I14-2757— Elize]
— 43 | DIEERER 1:37.7 12-12 [ 36.1| 61.9 | 15 | 410 |E=HE (E#)
71 > PRAaAVE #:55.0 (5) ) | ) s —XEeLz
L:ANT =TI B:I3ISF HRAEHE /-2
N S B 3 | EHBE 1:38.1 2-2 37.7| 59.9 | 7 458 | REE (EF)
151 5(10 J L l‘ I‘ U — LI A51.0 (2 1/2) (+6) L T ES
R:ZbhAYTUE=2 BNTLT7aT— HET77—L
g B 3 | BEEA 1:38.1 14-12 | 36.5| 58.4 | 16 | 404 |XMEEE— (i)
167113 ¥V /LA KR— 54.0 NP © XHEHT
R:OY— K B:I7ULFHEAF— 759 BEtis
@ 71 L
) 47.5-35.0
NA>ZA L | 12.5-11.0-11.9-12.4-12.5-11.8-11.2-12.0
® I —F—@EBIERL
13=3r=
230—7F—
Gol=5r= 9,10(2,5,11) (1,7,14) (6,8)3(4,12)-(13,15,16)
40—+ — (x9,10) (2,5,11) (1,7,14) (3,6,8) (13,4,12) (15,16)
[ N3
BB 14 290 714K 2-14 340M e E 1-7 380M JEHE 2-12-14 8,990/
8 B 14 1509 12-14 2,090 B = 2-14 740M B 14-2-12 30,6104
2 160/ 2-12 3,230 B H 14-2 1,440
12 850M




